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Smart fortwo coupé 37 kW/45 kW softip Bensin 4,7 117 97 900 3
Kia Picanto LX 1,0 Bensin 4.8 119 85 215 3
Smart fortwo coupé 37 kW/45 kW softou Bensin 4,8 119 97 900 3
Kia Picanto EX 1,1 Bensin 49 122 101 215 3
Smart roadster 45 kW Softtip Bensin 49 122 156 500 3
Smart roadster 45 kW/60 kW Sofftouch Bensin 51 126 159 400 3
Smart roadster-coupé 60 kW Softtip Bensin 51 126 206 900 3
Smart fortwo coupé/roadster BRABUS Bensin 5,3 131 189 900 3
Fiat Panda 1,2 8v Dynamic Dualogic Bensin 54 134 117 700 3
Fiat Panda 1,2 8v Dynamic Bensin 5,6 139 99 900 3
Toyota Yaris 1,0 Bensin 5,6 139 109 500 4
Toyota Yaris 1,3 Bensin 5,6 139 129 500 4
Kia Picanto EX 1,1 autom. Bensin 5,8 144 111 215 3

Grans: 144 g 5,8 1/200 km
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